Fri28FE BRESFFRNARATYMI—IHARSRFHEFER HAEaHE (BF)

B ER29%F1A7H(L). 88 (R)
=15 FEEASFFREAFE(AD—M AT

XESRRE FAIsk:

Ba—: ZEA{D

FEEEESEERAFTE(Ca—rXT—24 Da—k:RKEAD

10 4 %@
1M @ %
12| Il 2 T
13 4 4 4
14 @ »
15 ® ¥
16| S AEDS
17 = B

PN
106 72
BH S| 2 43 62
104 53
47 62
72 7
HREE|4 5 B @ 0
96 | 47
iEE|S 90 63
41
57 66
B
FEETAE|6 66
|42 48
78
AR T 75 35
92
59
\
N 8 27
73
HEET|O 98
ES—
66 | 53
47 44 78 58
e E | HEER| N 2T H %

SEARR. TEAEER. FEEIXER. =Bk IR ESENRARHIS




TR28EE BREESEEBRNRATYMNMR—ILFARSERFIRFES [BEFIHER
28 : E295F1A7H(L)-88(H)

215 FREASFIRAFTEA/B) - HEEBEXSFIREFEEC/D)

No| AF—.Ls 7 = BF—L [529|No| AF—L 7 = BF—.L
11 — 18
. 18] — |18
SE
Al HIE R 66| 8| — |22]78 R 1 [E] &k
B 29) — |20 B o
16| — | 8 9| — |16
4B o e | BRI SmTE|, | — 0., | HEER
A2 7R 721270 — | 4|43 SR [ omE ek (B2 7 F 47110 — [ 17|72 s
B o 10) — |20 =% =% B =1 B
23| — 4 10| — | 27
- 20| — |16 " 8| — |21 -
A3 M= 90|28 — |10/ 42 FHR 2 [k B3 /i 371 8| — | 2698 HERT
o 19 — |12 e . 1| — |24 .
R _ A A - mOR
23| — | 14 22| — |19
PSIN 23| — |16 e 3 21 — |19 PRIN
na| TEF 110 41| — | 14|62 [EES 2[E % (B4 iziT 881271 — | 7170 TR
m ok 28 — |18 w ok E o 18— m ok
13| — 17 5 — |21
C1 {67 63|11 — |20] 66 RF 2[@8 | D1 THR 3511 — | 13|59 =5
m ok B — |18 m o s =9 m o
38 — |5 1] — |15
PN 21 - 18 N = 19 - 14 B
5| TAE 106/ 29| — | 10| 47 HIERR 3[EEf | B5 HEE 57112 — | 17|73 HERET
m o 18 — |14 m o m o o) — 27 m o
16] — |10 6| — |24
i 14| — |17 . 13 — |22 —
A6 sk 7225 — | 19|62 Nzt 3[E]Ef (D3 RF 41 (10| — | 26]92 =5
m o 17y — |16 m o oo 12} — 20 o
28] — [13 23] — 14
PN 23| — |26 N SEE S PN 4 — |16 =
A8 S aH 104| 35| — |12 75 HERT 'f%* B8 ald 53113 — |10] 48 =5
o T3 18] — |24 R 0 o 13 — 8 R
23] — |13
P2 28| — |10 DAY 2N
| TAE 96 (23| — | 11|47 Gam P
B 221 — |13 B
12] — |5 6] — |15
- 13 — |15 . BE . 221 — | 8
= N ’ 3
o B = o B o
_— 11 - 12 —_ [0 B —_ 19 - 23 _—
1] — [14
wms | |2 | e | e
A9 = 66|11 — |16/ 53 - 2
ok N ok |RER




TR28FEE BRESFERNRATYMR—LFAXREZRFHRFER HAEHE (XF)
H B Ek29%1A78 (). 88(A) KBS FRT8KE

=5 FEEASSEFRAFTE(AQ—~XT—/1 Ba—h: XEED
PEREESSERATE (CO—RT—JM] Da—: READ

R & 5
HEERE| "7 59 8| & & it
110 63

& %
HEER|2 60 23 9| @ £
31 56
. 91 . 52 .
HEER|S3 R EM 10| & & &
88 | 52
| ; R
N 2z L |4 61 73 M HBER
44 51

7 47 -
R’ |5 69 120 i & &
44
65
N =
Z/ A /N 6 18 13)] = B
108
7
4 mom |7 8
FEIE®
81 | 66
59 | 58 44 | 64

BEEm| S A @A R |HFEESR

HERAESR. ZEeRK. e, SHLER. HEEASRSRRE LS



TR28FE BREESEEBRN\RATYMR—ILHAXRERFHMEFES [XFIHER
#H : 291 A7H(X)-8H((H)

=15 FEEBRSFFRIAFEC/D)

No| AF—Ls 5 = BF—L [ 5][N] AF—L 5 = BF—L
8| — |11 13 5
8| — |20 . . 21 15 -
-3 PASTN N =
co| BE |uslis — |16]52] T 1[E & (D2 MERE | o, 20 14| 47 MEE
m o Bl = s m o m o 19 13 m o
14] — |18
. 18] — |24 X
~E .E o
c3 HEER 60|16 — | 24|91 N IE R 1[E] 5
m o 21 =2 m o
5] — |20 4] — |10
3 15 - 14 I\ 9 - 28 P EIN
cf ML Jgil5] — [os|n1| PR |1mao] ™ |us|13) - 2s|sr| TEM
m o 6] — |14 m o m o 22| — |2 m o
6 — |15 1] — |17
A 20| — |17 A = 13 — |18 _
C5 R 59116/ — | 9|56 7F 2[a & (D5 W R 51 (11| — | 15|65 —
m o T =15 m o m o 6] — |15 m o
29] — | 8 8| — |29
. 370 — | 6 . 12 — |21 .
N N £l PRI
C6 B R 1170271 — | 6 |31 N IE R 2B | D6 R 441 6 | — |22/108 5w
o 24) — |1 m o m o 18] — |36 m o
30] — | 7 7] — |13
. 23| — |10 . e s . 20 — |15 _
N PNETN HES TN =
c8 B 110(34] — | 9|44 S am 'E.'?"* DS Sad 6314 — | 22|69 =5
o 23| — |18 o s o 12| — |19 o
A _ Y A _ A
24| — |14
. 17 — |9 _
N =
ool FRER | go 100 — g |s2| TF | m
R 27 — 2 o
3] — |18 7] — |22
. 12| — |17 . & - 10| — |20 .
N AN U 3] N
o FRER | 5o | 51 1| sg| TEE @z 1] TR a4 — e HERE
o — | 1 EEg e — e
AR 21 - 1 S K 13 - 8 AR
18] — |13
wemm| . |1~ 2| | gmem| ae
C9 = 81|21 — |17]66 = <!
28| — |24 o=
= 3 B & OB |REE




